Time Frequency
1 arz)(t) + agza(t) a1 X (jw) & e X (jw)
2 z(t — o) e X (jw)
3 z(at) Lx (i)
283 z(at — tg) |}L_|€—j(%)toX (J_w>
4 t"x(t) ()" #5 X (jw)
5 z(t)el ot X(j(w —wo))
6 z(t) cos (wot) X (G(w +wo)) + X (j(w —w))]
z(t) sin (wot) 5[X (w4 w)) — X(G(w — w))]
! (1) (jw)" X (jw)
7a (=3t)'a(0) e
8 z1(t) * z2(t) X1(jw)Xa(jw)
9 z1(t)xa(t) 2 X1(jw) * Xa(jw)
10 z(—1) X(—jw)
11 X(jt) oma(—w)
11a X(—jt) o (w)
12 ft z(7)dr 75X (Jw) +7X(j0)8(w)
Parseval’s 00 o0
Theorem _{O (1) dt %_{O X (jew)|*dw

Table 3.3: Properties of the Fourier transform




